Fractions of a Quantity

ﬁo find -g— of a number (like 15), you do it using 2 steps.

Step 1 :- Find L of 15 first (+3) = L of 15=15:3=5
Step 2 :-  Now fmd of 15by (x 2) => = 20f15:=5x2= 10
Set the working down as follows :- (Rul
3 = . % .
5 of:25 = (25 = 5) => i3l =iy To find a fr'ClCTIOH Ilke of some‘rhmg
2 - : - — "
Sof35 = (35:+7) = 5x2 =10. => “divide by the denommqfo,. ®
% of 60 => (60+10) => 6x7 =42. => then' "multiply by the Numeratop®

N

Exercise 5 :
\

1. Do the following :-

a £0f30 = (30:5) = then 6x2 =

b 2of24 = (24:.) >then .. x3 = ..

c 2ofi8 d Zof20 e

f & of 100 g £of6b h

i 2 ofe63 i Fofas k

I £ of35 m £ of 21 n I of56

o 3 of 400 P 7y of 1000 q & of30

r ;of35 s %of60 ¥ gof63

u g- of 32 v % of 32 w % of 200

X 13—0 of 300 y 1_76 of 80 z % of 60.
2. Do the following :-

a & of 1700 grams b & of £15000 ¢ 7 of €330

d {8 of 19 kg e L of 60ml f 3 of38kg

9 55 of $100 h 3 of 150 metres i 3 of 6litres.
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